
Quanity Diamond Todco Whiting Item Description
Hinges

HINGES-1000 69035 4007 Hinge-HD Zinc Plated End
HINGES-1007 61196 4012 Hinge-HD Zinc Plated Center
HINGES-2000 70162 1209-A Hinge-Flush Mount End Complete
HINGES-2002 1208 Hinges-Flush Mount End Hinge Cover
HINGES-2004 70159 15 Hinge-Flush Mount Center

Top Fixtures
TOPFIX-1000 69433 4039 Adjustable Top Fix Comp (Zinc)
TOPFIX-1002 69432 4051 Base-Adjustable Top Fixture
TOPFIX-1003 69431 4038 Slide-Adjustable Top Fixture
TOPFIX-2005 70158 6944 Flush Mount Top Closure Complete

Bottom Fixtures
BTMFIX-1000 61352 4003 Bottom Fixture Assembly - Gal
BTMFIX-1015 69964-2 4114 Bottom Fixture Assembly - HD - R
BTMFIX-1018 69964-1 4115 Bottom Fixture Assembly - HD - L
BTMFIX-1010 1371 HD Flush Mount Bottom Fix Assembly

Rollers
ROLLER-1000 61174 4027 1" Steel Roller
ROLLER-1001 5640 1" Nylon Roller
ROLLER-2000 70224 2996 2" Steel Roller
ROLLER-2001 2" Steel Roller w 4 3/4" Stem
ROLLER-2003 70225 3228 2" Nylon Roller

Locks and Keepers
LOCKIT-1000 69341 4024 Catch Box
LOCKIT-1001 70093 1982 Latch Plate
LOCKIT-1003 69571 MS Lock (E-Coat)
LOCKIT-1003B MS Lock (E-Coat) (Boxed)
LOCKIT-1024 69572 MS Lock Keeper (E-Coat)
LOCKIT-1036 L Handle - Keyed
LOCKIT-1039 77 77 Security Lock (E-Coat)
LOCKIT-1039B 77 Security Lock (E-Coat) (Boxed)
LOCKIT-1040 7515 7515 Lock Keeper (E-Coat)
LOCKIT-1007 MS Lock & Keeper w/inside release

SEALSKIN Repair Tape and Patches
SLSKIN-1002 4"w x 100'l  3 rolls/case - Alum
SLSKIN-1003 6"w x 100'l  2 rolls/case - Alum
SLSKIN-1101 3"w x 50'l  4 rolls/case - Alum - 33 mil
SLSKIN-1103 4"w x 50'l  3 rolls/case - Alum - 33 mil
SLSKIN-1104 6"w x 50'l  2 rolls/case - Alum - 33 mil
SLSKIN-1200 3"w x 100'l  4 rolls/case - White
SLSKIN-1201 4"w x 100'l  3 rolls/case - White
SLSKIN-1202 6"w x 100'l  2 rolls/case - White
SLSKIN-1600 Aluminum 6 x 6 Panels
SLSKIN-1601 White 6 x 6 Panels
SLSKIN-1603 White 12 x 6 Panels 
SLSKIN-1604 Aluminum 12 x 12 Panels
SLSKIN-1605 White 12 x 12 Panels
SLSKIN-1607 White 12 x 24 Panels

Btm Panel Hardware
CABANC-1000 61204 4004 Cable Anchor Brkt  (Zinc)
CABANC-1004 HD Cable Anchor Brkt
CABANC-1003 61026 10-1004-2 Cable Anchor Pin (Zinc Plated)
FORKLP-1000 16" Fork Lift Plate-Anodized
FORKLP-1001 70306-1152 36" Fork Lift Plate-Anodized
HANDLE-1000 61401 1715 Lift Handle (Zinc Plated)
PULSTR-1018L 1 1/2" Pull Strap Assembly 18" Looped
PULSTR-1024L 1 1/2" Pull Strap Assembly 24" Looped
PULSTR-1032L 1 1/2" Pull Strap Assembly 32" Looped
PULSTR-1018 1 1/2" Pull Strap Assembly 18" Non-Looped
PULSTR-1024 1 1/2" Pull Strap Assembly 24" Non-Looped
PULSTR-1032 1 1/2" Pull Strap Assembly 32" Non-Looped
PULSTR-2018L HD 2" Pull Strap Assembly 18 " Looped
PULSTR-2024L HD 2" Pull Strap Assembly 24 " Looped

PARTS ORDER FORM

PARTS ORDER FORM.XLS



PULSTR-2032L HD 2" Pull Strap Assembly 32 " Looped
PULSTR-2018 HD 2" Pull Strap Assembly 18 " Non-Looped
PULSTR-2024 HD 2" Pull Strap Assembly 24 " Non-Looped
PULSTR-2032 HD 2" Pull Strap Assembly 32 " Non-Looped
PULSTR-1012 Pull Strap Retainer 1 1/2"
PULSTR-1034 Pull Strap Retainer 2"
PULSTR-1016 Pull Strap Material 1 1/2"
PULSTR-1026 Pull Strap Material 2"
SAFECH-1000 61223 4110 Safety Chain Backplate (Zinc)
SAFECH-1002 61229 4126-1 Safety Chain (Zinc Plated)
SAFECH-1004 69020 4132 Safety Chain Assembly (zinc)
SEALBT-1000 89204 3765 HD 4 Pt Bottom Seal - 98"
SEALBT-1050 Wood One Piece Bottom Seal - 98" Length
SEALBT-1051 Evol One Piece Bottom Seal - 98" Length
BTMANG-1000 61191 4034 Bottom Angle 3" x 91"
BTMANG-1001 61191 4034 Bottom Angle 3" x 98"
SEALMS-5000 Evolution Tongue Insert

Side Seals
SEALSD-2023 69922 3766 Side Seal Assy
SEALSD-2024 70105 113" Secondary Side Seal
SEALSD-2034 69840 Extended Lip Side Seal - 110"
SEALSD-2045 Dual Durometer Side Seals - 110" Length
SEALSD-2047 7277 1" Brush Side Seal Assembly - 110" Length

Top Seals
SEALTP-4000 61402 Header Seal - 96"
SEALHD-4002 Head Seal Assembly - 98" Length
SEALTP-4050 Evol/Wood One Piece Top Seal - 98" Length
ALEXTR-1000 61403 Head Seal Retainer

Cables
CABLES-1000 95" 7x19 SS 1/4 Nylon
CABLES-1101 105" 7x19 SS 1/4 Nylon
CABLES-9000 105" 7x19 SS 7/16 Nylon
CABLES-9000 105" 7x19 SS 5/16 Nylon
CABLES-9001 105" 7x7 Gal 1/4 Metal
CABLES-9001 105" 7x7 Gal 7/16 Metal
CABLES-1201 110" 7x7 SS 1/4 Nylon
CABLES-1202 110 7x19 SS 1/4 Nylon
CABLES-9001 110" 7x7 Gal 1/4 Metal
CABLES-9000 110" 7x7 SS 7/16 Metal
CABLES-9001 110 7x19 Gal 1/4 Nylon
CABLES-9000 110" 7x19 SS 5/16 Nylon
CABLES-9000 110" 7x7 SS 5/16 Nylon
CABLES-1300 115" 7x19 Gal 1/4 Nylon
CABLES-1303 115" 7x19 SS 5/16 Nylon
CABLES-1304 115" 7x19 SS 7/16 Nylon
CABLES-1305 59004 4020-1 115" 7x19 SS 1/4 Nylon
CABLES-9001 115" 7x19 Gal 5/16 Nylon
CABLES-9000 115" 7x7 SS 7/16 Metal
CABLES-9001 115" 7x7 Gal 1/4 Metal
CABLES-9001 115" 7x7 Gal 7/16 Metal
CABLES-9000 115" 7x7 SS 1/4 Metal
CABLES-1401 120" 7x19 SS 1/4 Nylon
CABLES-9000 120" 7X7 SS 1/4 Metal
CABLES-9001 120" 7x7 Gal 1/4 Metal
CABLES-1501 125" 7x19 SS 1/4 Nylon
CABLES-1502 125" 7x19 SS 5/16 Nylon
CABLES-9000 125" 7x7 SS 7/16 Metal
CABLES-9001 125" 7x7 Gal 7/16 Metal
CABLES-9000 125" 7x7 SS 1/4 Metal
CABLES-1602 59003 4020-2 130" 7x19 SS 1/4 Nylon
CABLES-9000 125" 7x19 SS 5/16 Nylon
CABLES-9001 125" 7x19 Gal 5/16 Nylon
CABLES-9000 125" 7x19 SS 7/16 Nylon
CABLES-9000 130" 7X19 SS 5/16 Nylon
CABLES-9001 130" 7x19 Gal 1/4 Nylon
CABLES-9000 130" 7x7 SS 7/16 Metal
CABLES-9001 130" 7x7 Gal 1/4 Metal
CABLES-9000 130" 7x7 SS 1/4 Metal

Fasteners
FASTEN-1005 80202-2436 Washer - Top Fixture

PARTS ORDER FORM.XLS



FASTEN-1006 80322-319 5/16 Lock Washer (Zinc)
FASTEN-1016 80020 6 Spacer Washer (Zinc Plated)
FASTEN-1100 3/4" SS Rivet (300 Series)
FASTEN-1102 89217-0032 10-1002-60 1" SS Rivet (300 Series)
FASTEN-1103 89217-0036 10-1002-61 1 1/8" SS Rivet (300 Series)
FASTEN-1104 89217-0040 1 1/4" SS Rivet (300 Series)
FASTEN-1111 89210-0032 10-1002-3 1" Steel Rivet (Pavco)
FASTEN-1112 89210-0036 10-1002-36 1 1/8" Steel Rivet (Pavco)
FASTEN-1113 89200-0040 1 1/4" Steel Rivet (Pavco)
FASTEN-1115 1 1/2" Steel Rivet (Pavco)
FASTEN-1116 69733 Rivet Set
FASTEN-1300 80401-316 10-1009-5 3/32x3/4 Cotter Pin (Zinc)
FASTEN-1503 80105-416 10-1010-31 1/4-20 x 2 Hex Bolt (zinc)
FASTEN-1505 80015-1610 Step Bolt-1/4x1 1/4-Splined
FASTEN-2105 1.25" U-Bolt w/nuts (Zinc)

Springs
SPRING-1000 Spring Only L 2 3/16" ID X 16" x .135 Wire
SPRING-1000 Spring Only R 2 3/16" ID X 16" x .135 Wire
SPRING-1000 Spring Only L 2 3/16" ID X 18" x .156 Wire
SPRING-1000 Spring Only R 2 3/16" ID X 18" x .156 Wire
SPRING-1000 Spring Only L 2 3/16" ID X 18" x .148 Wire
SPRING-1000 Spring Only R 2 3/16" ID X 18" x .148 Wire

SPASSY-2001
R 2 1/2" ID X 30" X .207 Wire w/2" filler plug & winding 
and anchor plug

SPASSY-2002
R 2 1/2" ID x 35" x .225 Wire w/2" filler plug & winding 
and anchor plug

Operators & Hdwr

CBASSM-1000 59174 4090 Single spring CB Assy - 96" x R 1 3/4 x 57" x .243

CBASSM-1000
Single spring CB Assy - 96" x R 1 3/4 x 57" x .243 
SHALLOW HEADER

CBASSM-1000 59174 4090 Single spring CB Assy - 96" x R 1 3/4 x 40" x .225

CBASSM-2000 2376-87 Dual spring CB Assy - 87" x  R 2 3/16 x 29" x .182

CBASSM-2000 2376-96 Dual spring CB Assy - 96" x  R 2 3/16 x 29" x .182

CBASSM-2000 2376-93 Dual spring CB Assy - 93" x R 2 3/16 x 31" x .187
CBHARD-1100 51038 4033 Bearing Assembly
CBHARD-1101 Reverse Header Bearing Assembly
CBHARD-1104 80701-1 10-1025-4 1" ID x 2" OD Steel Bearing
CBHARD-1200 59129-2 & 4 4128 3" R Ext Cable Drum w/ Screws
CBHARD-1201 59129-1 & 3 4127 3" L Ext Cable Drum w/ Screws
CBHARD-1204 4 3/4" Cable Drum R/H w/Screws
CBHARD-1205 4 3/4" Cable Drum L/H w/Screws
CBHARD-1300 51043 4025 1 3/4" Anchor Plug - Aluminum
CBHARD-1301 59158 4050 1 3/4" WindingPlug W/Screw-Alu
CBHARD-1308 2 1/2" Anchor Plug - Aluminum
CBHARD-1309 2 1/2" Winding Plug - Aluminum  W/Screw
CBHARD-1313 RH Winding Cone
CBHARD-1314 LH Winding Cone
CBHARD-1316 2548 (RH) Cable Drum&Bearing Assy.
CBHARD-1318 2547 (LH) Cable Drum&Bearing Assy.
CBHARD-1400 51036-2 4028 Spring Anchor Brkt RH Head pla
CBHARD-1403 51036-1 4029 Std LH Head Plate
CBHARD-1406 Headplate Reverse Header
CBHARD-1407 Shallow RH Head Plate 4.88 x 5.75
CBHARD-1409 Shallow LH Head Plate 4.88 x 5.75
CBHARD-1415 2524 RH CB Bracket - Dual Spring
CBHARD-1416 2523 LH CB Bracket - Dual Spring
CBHARD-1417 2525 Center CB Brkt - Dual Spring
CBHARD-1418 2526 Center CB Clamp - Dual Spring
CBHARD-1422 Clipped LH Head Plate
CBHARD-1423 Clipped RH Head Plate
CBSHFT-1001 89 1/4" Counterbalance Shaft
CBSHFT-1002 51037 3100 96" Counterbalance Shaft
CBSHFT-1003 100" Counterbalance Shaft
CBSHHH-1000 51078 Silencer Boot
BEARNG-1000 1" Nylon Bearing

PARTS ORDER FORM.XLS


